Package

SCX-300KM

SEEE

STAINLESS BOLT
(M10XL30) 4EA

0000
SPRING WASHER 4EA
PLAIN WASHER 4EA
SCX-300PM
STAINLESS BOLT
(M10XL30) 4EA
0060
SPRING WASHER 4EA
STAINLESS STEEL SSSS)
MOUNT STRAP
PLAIN WASHER 4EA POLE MOUNT ADAPTOR

00873D-SCX-300KM&PM-NEW.indd 1

Product Overview

ENG

- (7] I(_.'n) m
> s

J

=
o )

z

KOR

SCX-300KM : This is an adaptor that is used to install the Wall Mount Adaptor
(SCX-300WM) in a corner of the wall.

SCX-300PM : This product is used to install the Wall Mount Adaptor (SCX-300WM)
onto a pole of at least 80 mm in diameter.

SCX-300KM : Adaptateur permettant d'installer I'adaptateur de fixation murale
(SCX-300WM) dans I'angle du mur.

SCX-300PM : Ce produit permet de monter I'adaptateur de fixation murale
(SCX-300WM) sur un pyldne d'au moins 80 mm de diamétre.

SCX-300KM : Das ist ein Adapter, der zur Montage des Wandadapters (SCX-300WM)
in einer Wandecke verwendet wird.

SCX-300PM : Dieses Produkt dient zum Montieren des Wandadapters (SCX-300WM)
an einem Mast mit einem Durchmesser von mind. 80 mm.

SCX-300KM : Este es un adaptador que se utiliza para instalar el adaptador de
montaje en pared (SCX-300WM) en una esquina de un muro.

SCX-300PM : Este producto se utiliza para instalar el Adaptador de montaje en
pared (SCX-300WM) en un poste de al menos 80 mm de diametro.

TA SCX-300KM : Questo & un adattatore utilizzato per installare I'adattatore per
montaggio a parete (SCX-300WM) in un angolo della parete.

SCX-300PM : Questo prodotto e utilizzato per installare |'adattatore per montaggio a
parete (SCX-300WM) su un palo di almeno 80 mm di diametro.

R

>

)

RUS SCX-300KM : 3TOT nepexoAHWK CNonb3yeTca ANa yCTaHOBKY HAaCTEHHOTO afanTepa
(SCX-300WM) B yrny.
SCX-300PM : 3TOT NPOAYKT UCMONb3yeTCA ANA YCTaHOBKM HACTEHHOO KPOHLLTEMHa
(SCX-300WM) Ha cTonb, MUHMMAnbHbIN AMaMeTp KOTOPOro coctasnseT 80 MM.
POL SCX-300KM : Ta przystawka uzywana jest do montowania Przystawki Sciennej

(SCX-300WM) w kacie pomiedzy scianami.
SCX-300PM : Ten produkt jest uzywany do montazu przystawek sciennych
(SCX-300WM) na stupie o érednicy co najmniej 80 mm.

SCX-300KM : Bu, Duvar Montaj Adaptériini (SCX-300WM) duvar kdselerine monte
etmek igin kullanilan bir adaptordir.

SCX-300PM : Bu Uriin, Duvara Montaj Adaptériini (SCX-300WM) en az 80 mm
capa sahip bir direge monte etmek icin kullanilir.

SCX-300KM : Adaptér uréeny k instalaci adaptéru pro upevnéni na sténu
(SCX-300WM) do rohu na sténé.

SCX-300PM : Tento produkt je uréen k instalaci adaptéru pro upevnéni na sténu
(SCX-300WM) na stozér o priméru alesport 80 mm.

SCX-800KM : W4 —)b « XU/ b « 7HA T2 (SCX-300WM) HEEDMBICHRET 1=
DIERTBT7LT2TY,

SCX-300PM : ZDH@EFEAL T, TA—IL-ITV b -
HEREHOMMEBR AIHCRELE T,

SCX-300KM : X2 A T AR ik E L R4ER 8 (SCX-300WM) HIERLEE .
SCX-300PM : 7K 7= & il F 451 £ % 35iE B 38 (SCX-300WM) RERIERZZE A 80
EXRMHEF L.

SCX-300KM : & HZ2 &o| 22|20 Wall Mount Adaptor(SCX-300WM)S Ax| Al
At25H= Adaptor YLct.

SCX-300PM : £ HIZ2 80mmoOlA2| 7|50l Wall Mount Adaptor (SCX-300WM)E
MR| Al AB5H= Adaptor YLICH

N

7 A 72 (SCX-300WM)

Installation Precautions

Make sure that the installation place can endure at least 4 times of the total weight of the
Corner/Pole Mount Adaptor, Wall Mount Adaptor, Hanging Mount Adaptor, and Camera.
Each anchor bolt to use must be capable of withstanding an extraction force of 700 kg.
When installing the product outdoors, use interlocking devices made of stainless steel.
This product is designed to use M10 Anchor Bolts (Nuts) for the installation.

If you install the Corner Mount Adaptor on a concrete wall, it is recommended to use M10
Anchor Bolts (Nuts) along with plain and spring washers.

Assurez-vous que |'emplacement de I'installation peut supporter au moins 4 fois le poids total de
|'adaptateur de fixation sur pyléne/d‘angle, de I'adaptateur de fixation murale, de I'adaptateur
pour fixation suspendue et de la caméra.

Chaque boulon utilisé doit pouvoir résister a une force d'extraction de 700 kg.

Sivous installez le produit a I'extérieur, utilisez des dispositifs de verrouillage en acier
inoxydable.

Pour installer ce produit, vous avez besoin de boulons d'ancrage M10 (écrous a river).

Si vous fixez |'adaptateur de fixation murale sur un mur en béton, nous vous conseillons
d'utiliser des boulons d'ancrage M10 (écrous a river) avec rondelles de ressort et plates.

@

Stellen Sie sicher, dass der Montageort das 4-fache Gesamtgewicht der Eck-/Masthalterung,
des Wand- bzw. Hangeadapters und der Kamera tragen kann.

Jeder Ankerbolzen muss einer Ausziehkraft von 700 kg standhalten kénnen.

Wenn das Produkt im Freien montiert wird, missen Verriegelungseinrichtungen aus Edelstahl
verwendet werden.

Bei der Montage dieses Produkts benétigt man Ankerbolzen und Muttern (M10).

Wenn Sie die Eckhalterung an einer Betonwand befestigen, wird die Verwendung von M10
Ankerbolzen (Muttern) und von Unterleg- bzw. Spannscheiben empfohlen.

Asegurese de que el lugar de instalacion puede soportar al menos 4 veces el peso total del
adaptador de montaje en esquina/poste, el adaptador de montaje en pared, el adaptador de
montaje en suspension y la camara.

Cada perno de anclaje debe tener la capacidad de soportar una fuerza de extraccion de 700 kg.
Alinstalar el producto en exteriores, utilice dispositivos de interbloqueo de acero inoxidable.
Este producto se ha disefiado para utilizar tornillos de anclaje M10 (tuercas) para la instalacion.
Siinstala el adaptador de montaje en esquina en un muro de hormigon, se recomienda utilizar
pernos de anclaje M10 (tuercas) junto con arandelas planas y de muelle.

Assicurarsi che il punto prescelto per I'installazione possa sopportare un peso 4 volte
superiore a quello totale di adattatore per montaggio ad angolo/su palo, adattatore per
montaggio a parete, adattatore per montaggio sospeso e videocamera.

Ogni bullone di ancoraggio da utilizzare deve poter resistere ad una forza di estrazione di 700 kg.
Per installare il prodotto all'aperto, utilizzare dispositivi di ancoraggio in acciaio inossidabile.
Questo prodotto & progettato per utilizzare bulloni (dadi) di ancoraggio M10 per I'installazione.
Se siinstalla I'adattatore per montaggio ad angolo su un muro di cemento, si raccomanda di
utilizzare bulloni (dadi) di ancoraggio M10 con rondelle piane ed elastiche.

Y6eauTech, UTo MeCTO YCTaHOBKY BbilePVBAET BeC NMPKUMEPHO B 4 pasa bonblunit obLiero
BECa YrNI0BOro afantepa/Ana KpenneHua K KOIOHHe, a TakKe HaBeCHOro ajjanTepa 1 Kamepbl.
Kaxablit cnonb3yemblil KpenexHbii 60nT AoMKeH BblAepXIBaTb CUNY N3BNEYEHWA, PaBHYIO
700 Kr.

Ecnu npogayKT ycTaHaBAMBaeTCA BHe MOMeLLEHIsA, HeObXOAMMO UCMOMb30BaTb YCTPOMCTBO
ONOKMPOBKM U3 HepxaBeloLLei CTanu.

[InA yCTaHOBKM 3TOrO MPOAYKTa UCMONb3YIOTCA KpenexHble 60T (rariki) M10.

Mpu ycTaHOBKe YrNOBOro ajanTepa Ha GETOHHOM CTeHe PeKOMeHZyeTCA Cronb3oBaTh
KpenexHble 6onTbl (raiiku) M10, a Takke Naockue 1 NPyXUHHbIE Waitbbl.

Upewnij sig, ze miejsce instalacji moze utrzymac ciezar czterokrotnie wigkszy od tacznej wagi
Przystawki do montazu na stupie/przystawki katowej, Przystawki Sciennej, Przystawki wiszacej
i Kamery.

Kazda kotwa musi mie¢ zdolno$¢ wytrzymania sity wyciagania 700 kg.

W przypadku montazu produktu na zewnatrz nalezy uzywaé blokad ze stali nierdzewnej.
Produkt ten nalezy montowac¢ za pomoca kotew (nakretek) M10.

W przypadku montazu Przystawki katowej na $cianie betonowej zalecane sa kotwy (nakretki)
M10 oraz podktadki zwykle i sprezyste.

Montaj yerinin Kose/Direk Montaj Adaptorinin, Duvar Montaj Adaptoriiniin, Askill Montaj
Adaptorinin ve Kamera’'nin toplam agiriginin en az 4 katina dayanikli oldugundan emin olun.
Kullanilacak her ankraj civatasi, 700 kg'lik bir cekme kuvvetine dayanikli olmalidir.

UrlinU dis mekana kurarken, paslanmaz celikten yapiimis i¢ kilit mekanizmalart kullanin.

Bu Uriin, M10 ankraj civatalaryla (somunlar) birlikte kullaniimak igin tasarlanmistir.

Kodseye Montaj Adaptdrind beton bir duvarda kullanacaksaniz, diiz ve yayli rondelalara sahip
M10 ankraj civatalarinin (somunlarin) kullanimasi énerilir.

Ujistéte se, Ze misto, kam chcete zafizeni instalovat, unese nejméné Ctyfnasobek souctu
hmotnosti rohového adaptéru nebo montazniho adaptéru pro stozary, adaptéru pro upevnéni
na sténu, zavésného montazniho adaptéru a kamery.

Kazdy kotevni Sroub musi byt schopen odolat tahu 700 kg.

Pri instalaci produktu ve venkovnich prostorach pouzijte zajistovaci prvky z nerezové ocell.
Tento produkt je navrzen pro pouziti kotevnich Sroubt a matic M10 pfi instalaci.

Pri instalaci rohového adaptéru na betonové stény se doporucuje pouzit kotevni Srouby a
matice M10 spolu s plochymi a pérovymi podiozkami.

BEBFADN DA—F—/R—IL TN T AT R T =)V ITV N THATE, /\/#/’7
IUVRTH 7"7&*34:073%70):,=+§§0)wt41ﬁ§? MASNDTEERERL TS
R 2E 7 h— NIV M, 700kg0_)}7i£7mm g9,

COERERMRET D561, Zr/bxﬁméﬁéﬁ%ﬁﬁﬁt‘c (feE
TORRIEMIO0T VA= RIVE (Fy M) EERLERELE Y,

a9 )= BDBECO—F— I N TR T RERBEY DIBEIEMI07VH—RIVE
(FyR) EFETY A —BLORT T Ty v —%ERTHTEEHEIDLET,

BERRZEMEERVLAZ AR/ MARRERR. BLREEE. BEREE
BEISESH 4 FHINE

SERANE KB LERL TSRS 700 2 F AR 7

EENRE @I, ERATEAHIENRIEE.

AFERRTAER M0 BERE (B5) #iTRE.
fﬂ%ﬁﬁ%;‘*éﬂﬂ%ﬁtz—ﬁmmﬁﬂat EiE M0 BEBL (1B8) SRTEAMMEN

AX[&A7} Corner/Pole Mount Adaptor WaII Mount Adaptor, Hanging Mount Adaptor,
Camera 2| Z3&9| 4t 0|42 &38| g 4 QU= ol HX[etML.

Mx|=l ztzto] 7} EES 700kg°| t:n7.|a10” 74|:|010F stLIC}

Solof AxIA| HHZ= XeOlA KIS ALESHMIR.

0] MZ2 M109| Y7t EE(HE)E AMEst=S MAIE|o UZLICH

Corner Mount Adaptors 232|EH0l| MR[& Z2 M102] Y7t EE(HE)S HAM U
ATt B AFESHMIR.

& B RN

2009-04-28 2= 4:59128



Installation SCX-300PM Product Specifications
SCX-300KM 1 Select a pole to install and confirm the installation height.
) ) SCX-300KM SCX-300PM
1 Mark and drill 8 holes into the Corner Mount Adaptor where you will insert 2 Use the Stainless Steel Mounting Strap to secure the Pole Mount Adaptor Weiaht : 2200 Weidht - 1400,
L] N L] N
the Anchor Bolts or Nuts (M10), and fasten the Corner Mount Adaptor with to the pole. . M:{gria\': Stee? . M:{gria\': Stee?
the Bolts, plain and spring washers. 8 Insert the cables through the Pole Mount Adaptor. « Operation temp. : -50°C~60°C e Operation temp. : -50°C~60°C
) . ) ® Operation hum. : 0~100% ® Operation hum. : 0~100%
2 Insert the cables through the Corner Mount Adaptor. 4 Use the provided Bolts, Spring Washers and Plain Washers to mount the P 2 P 0
. ) . Poids : 2200« Poids : 1400
3 Use the provided Bolts, Spring Washers and Plain Washers to mount the Wall Mount Adaptor onto the product. . Mcgtéiiau . Ac?er . I\/Ic;tésriau . Ac?er
Wall Mount Adaptor onto the product. = For more information, refer to the installation guide of the Wall Mount Adaptor. R Températﬁre de fonctionnement - R Températﬁre de fonctionnement -
= For more information, refer to the installation guide of the Wall Mount Adaptor. -50°C~60°C -50°C~60°C
* Humidité de fonctionnement : * Humidité de fonctionnement :
0~100% 0~100%
* Gewicht : 2200g * Gewicht : 1400g
* Material : Stahl * Material : Stahl
* Betriebstemperatur : -50°C~60°C * Betriebstemperatur : -50°C~60°C
 Betriebsluftfeuchte : 0~100%  Betriebsluftfeuchte : 0~100%
® Peso : 2200g ® Peso : 1400g
* Material : Acero * Material : Acero
| ® Temp. funcionamiento : -50°C~60°C e Temp. funcionamiento : -50°C~60°C
= || ¢ Hum. funcionamiento. : 0~100% ¢ Hum. funcionamiento. : 0~100%
= ® Peso : 2200g ® Peso : 1400g
* Materiale : Acciaio * Materiale : Acciaio
* Temperatura di esercizio : -50°C~60°C e Temperatura di esercizio : -50°C~60°C
¢ Umidita di esercizio : 0~100% ¢ Umidita di esercizio : 0~100%
™~ Anchor Bolt Stainless Steel Mounting Strap ® Bec : 2200g ® Bec: 1400g
* Matepwan : Cranb * Matepwan : Cranb
* Temnepatypa npw paboTe : * TemnepaTtypa npw paborTe :
Plain Washer Pole Mount Adaptor 50°C~60°C 50°G~60°C
o Mount Adat Spring Washer ® BnaxHocTb npw pabote : 0~100%  BnaxHocTb npw pabote : 0~100%
Plain Washer orner Mount Adaptor
Spring Washer Anchor Bolt . '\C/IietZar :{QQSCt)Olg . aietzar }%?OP
* Materiat : Stal * Materiat : Stal
Anchor Bolt gg?%%%rc}vﬁﬁc;aptor * Temperatura robocza : -50°C~60°C * Temperatura robocza : -50°C~60°C
}/é/%\%%%r\\/tv /,\%A?aptor  Wilgotno$é robocza : 0~100% * Wilgotno$é robocza : 0~100%
* Agirlik : 2200g * Agirlik : 1400g
* Malzeme : Celik * Malzeme : Celik
. . e Calisma sicakligi : -50°C~60°C e Calisma sicakligi : -50°C~60°C
Product Outline Product Outline « Calisma nem degeri : 0~100% « Calisma nem degeri : 0~100%
* Hmotnost : 2200g * Hmotnost : 1400g
N * Material : Ocel * Material : Ocel
. * Provozni teplota : -50°C~60°C * Provozni teplota : -50°C~60°C
8 ® Provozni vihkost : 0~100% * Provozni vihkost : 0~100%
S o B8 :2200g o B8 : 14009
R o ME: AF—Ib o ME: XF—)b
e 166 o BIYERE : -50°C~60°C o BIYERE : -50°C~60°C
- = * EHFIREE : 0~100% * BERE : 0~100%
v ¢ D * EE:2200g o EE 14009
is @45 LR RS LR RS
ool o TERE : -50°C~60°C o TERE : -50°C~60°C
o TERME : 0~100% o T/ERE : 0~100%
Q m
¢ o o oo o | e * 27 : 22009 * 27 : 1400g
22 e THE : Steel o THE : Steel
g - * A8 2k 1 -50C~60T * A8 2k 1 -50C~60T
- 5 E D e A8 &k 1 0~100% e A8 &k 1 0~100%
® @&
P o oo i e
50 4-MIOxI .5 NUT
2 ® M-S NIT SCX-300KM/PM AB68-00873D

00873D-SCX-300KM&PM-NEW.indd 2 @ 2009-04-28 2= 4:59129



